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BRKPOMERE (F4RBOKERERER)

Nolgs| # ® R B | B 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.05 0.04 0.04 0.05 0. 045
2| 48 E P N meL | 0.1 Kb 0.1 Kb 0.1 xRl 0.1 Rih 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 ki 0.02 ki 0.02 ki 0.02 k&
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1 157(1,2-v2 a2y | m | 0.004 K& 0.004 =K 0.004 ki 0.004 ki 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13| 159y 21,2y ponzsLy| me L | 0.04 ki | 0.04 ki | 004 kFH | 0.04 kE | 0.04 ki
1|19 Db - D mg L | 0.002 X% 0.002 ki 0.002 ki 0.002 ki 0.002 k&
15| 186| 8 £ x F L > | m | 002 k& | 002 ki | 002 kF [ 002 kE | 0.02 ki
16| 27| kR U Z0E| mesL| 0.0002 K& 0.0002 =i 0.0002 ki 0.0002 =i 0.0002 ki
17| 22|t Lo RUZzOam| me L] 001 k& | 0.01 ki | 001 k& | 0.01 k& | 0.01 ki
18| 262| F+r3vomzFLY| mesL| 0.001 RiE 0.001 k& 0.001 k& 0.001 k& 0.001 k&
19 268 *;5;‘3";9‘?5@’) m L | 0.006 k& | 0.006 & | 0.006 k& | 0.006 & | 0.006 k&
20| 2712 8 Kk B # & [ mesl 0. 01 0. 01 K| 0.01 K| 0.01 R 0. 003
21 279{ 1,1, 1-+ysnnz sy | msL| 0.001 XK 0.001 X% 0.001 k% 0.001 k% 0.001 k%
22| 280[ 1,1,2-+ysnnzsy| msL| 0.006 K 0.006 ki 0.006 ki 0.006 k& 0.006 ki
23| rysonzFry| me| 0001 ki | 0.001 ki@ | 0.001 ki | 0.001 k& | 0.001 ki
241 305 s & & B mgL| 0.01 =R 0.01 ki 0.01 ki 0.01 kil 0.01 ki
25| sR(MERUZOMmEILEY meL | 0.01 K 0.01 ki 0.01 ki 0.01 K| 0.01 K&
26| | 5 S EAFES e ] 05 ki [ 05 ki | 05 k@ | 05 kil [ 05 Xk
27| 400f R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
28 4050 £ 5 F £ & % | mL 0.07 0.09 0.08 0.08 0.080
29| 406 P c B mg L | 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki
30| 412|R v AU RUZDIEA| me L 0.01 0.02 0.03 0.02 0.020

KBUE~RBILERGNBESERERESED DAEICK YHHKDFRREEZRELBEICEVT. TORESPLERESEZOEERFETHS

SETHY. TREShBULIE) EBHBT,

itk
NP2 B O o & W OB HEHE (MUK~ DHH) B HSIE
11 | BEMoKBMHELLSY| 10413259 x  0.045 /1000 = 470 kg ( 468.6 kg)
201272 A K B t& /& | 10413259 x  0.003 /1000 = 26 kg ( 26.03 kg)
281405 12 5 %k & & ¥ | 10413259 x  0.080 /1000 = 830 kg (1833.1 kg)
30 412" Y HURUEFDIESH| 10,413,259 x  0.020 /1000 = 210 kg ( 208.3 kg)




ERFRIEE [BIIR| BURFEE 283,656 m’

No. gg 2 B om B & _ ;&j:7k¢®%§i%§1(T;@oﬁkﬁffﬁﬁﬁi)ﬁ —
1| 1 |EwokEtikan| L 0. 04 0.04 0.05 0.05 0. 045

2| 48 E P N meL | 0.1 Kb 0.1 Kb 0.1 xRl 0.1 Rih 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 ki 0.02 ki 0.02 ki 0.02 k&
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13| 159y 21,2y ponzsLy| me L | 0.04 ki | 0.04 ki | 004 kFH | 0.04 kE | 0.04 ki
14| 179 D - D mg L | 0.002 X% 0.002 ki 0.002 ki 0.002 ki 0.002 k&
15| 186| 8 £ x F L > | m | 002 k& | 002 ki | 002 kF [ 002 kE | 0.02 ki
16| 27| kR U Z0E| mesL| 0.0002 K& 0.0002 k& 0.0002 ki 0.0002 =i 0.0002 ki
17| 2|t LoRUZOa| me L | 001 ki | 001 k& | 001 k& | 001 k& | 001 k&
18| 262| F+r3vomzFLY| mesL| 0.001 RiE 0.001 k& 0.001 k& 0.001 k& 0.001 k&
19 268 *;5;‘3";9‘?5@’) m L | 0.006 k& | 0.006 & | 0.006 k& | 0.006 & | 0.006 k&
20| 272| 8 Kk & M & | msL| 0.01 K@ | 0.01 K| 0.01 ES] 0. 01 0. 003

21 279{ 1,1, 1-+ysnnz sy | msL| 0.001 XK 0.001 X% 0.001 k% 0.001 k% 0.001 k%
22| 280[ 1,1,2-+ysnnzsy| msL| 0.006 K 0.006 ki 0.006 ki 0.006 k& 0.006 ki
23|28 rysoETFL| m | 0.001 ki | 0.001 k& | 0.001 & | 0.001 k& | 0.001 *i&
241 305 s & & B mgL| 0.01 =R 0.01 ki 0.01 ki 0.01 kil 0.01 ki
25| sR(MERUZOMmEILEY meL | 0.01 K 0.01 ki 0.01 ki 0.01 K| 0.01 K&
26| | 5 S EAFES e ] 05 ki [ 05 ki | 05 k@ | 05 kil [ 05 Xk
27| 400f R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
28 4050 £ 5 F £ & % | mL 0.07 0.08 0.08 0.06 0.073

29| 406 P c B mg L | 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki
30| 42| HURUVZDILEH| meL 0.02 0.01 Rih 0. 01 0. 01 0.010

KBUE~RBILERGNBESERERESED DAEICK YHHKDFRREEZRELBEICEVT. TORESPLERESEZOEERFETHS

SEThHY. TRETABRLIE] EBET,

AR |
NP2 B O o & W OB HEHE (MUK~ DHH) B HSIE
11 | H#MDKEBEHEIEEY| 283656 x 0. 045 /1000 = 13 kg ( 12.76 kg)
201272| A K B & & 283,656 x  0.003 /1000 = 071 kg ( 0.709 kg)
28(405| IZ 5 ® it & B 283,656 x  0.073 1000 = 21 ke ( 20.71 ke)
0 [412|R v ARV EDIESY| 283,656 x 0.010 . 1000 = 28kg ( 2.837 ke)




FRI0EE | WilF | BURRE 498,196 n’
No. gg R E B | M4 — ;&;ﬁ:kmmmﬁf%§1<T;@mzk§$ﬁ§ﬁs§>ﬁ —
1| 1| EnokEttian| L 0. 04 0. 04 0.05 0.05 0.045
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| 88|AMosoLitam| ]| 002 R | 002 ki | 002 ki | 002 ki | 002 ki
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 i 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
o149 m m £ & = | me | 0002 ki | 0002 k& | 0002 k& | 0.002 k& | 0.002 %%
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1 157(1,2-v2 a2y | m | 0.004 K& 0.004 =K 0.004 k% 0.004 ki 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13| 159|ya-1,2-y" snnzsLy| me L | 0.04 ki | 0.04 k& | 0.04 k& | 004 k& | 004 ki
1|19 Db - D mg L | 0.002 X% 0.002 ki 0.002 ki 0.002 ki 0.002 k&
15| 186) 5 £ » F L > | m | 0.02 ki | 0.02 kF | 002 kFH | 002 X | 002 X
16| 27| kR U Z0E| mesL| 0.0002 K& 0.0002 =i 0.0002 =& 0.0002 k% 0.0002 =%
17| 22| € Lo RUZOEEY| me L | 0.01 k& | 0.01 k& | 0.01 k& | 001 x& | 001 Xxi&
18| 262| F+r3vomzFLY| mesL| 0.001 RiE 0.001 ki 0.001 ki 0.001 k& 0.001 k&
19 268 *;5;‘3";9‘?5@’) m L | 0.006 k& | 0.006 & | 0.006 k& | 0.006 & | 0.006 k&
20 272| $A K & t & | meL 0. 01 0.02 0.02 0.01 0.015
21 279{ 1,1, 1-+ysnnz sy | msL| 0.001 XK 0.001 X% 0.001 k% 0.001 k% 0.001 k%
22| 280[ 1,1,2-+ysnnzsy| msL| 0.006 K 0.006 ki 0.006 ki 0.006 k& 0.006 ki
23| rysonzFry| me| 0001 ki | 0.001 ki@ | 0.001 ki | 0.001 k& | 0.001 ki
241 305 s & & B mgL| 0.01 =R 0.01 ki 0.01 ki 0.01 kil 0.01 ki
25| 32|MRRVEOEMEAY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
26| | 5 S EAFES e ] 05 ki [ 05 ki | 05 k@ | 05 kil [ 05 Xk
27| 400 R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
28 4050 £ 5 F £ & % | mL 0. 06 0. 06 0.07 0.05 0. 060
29| 406 P c B mg L | 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki
0| M2lvoHorUzniay| meL | 0.01 K 0.01 ki& 0.01 ki& 0.01 K& 0.01 Ri&

KBUE~RBILERGNBESERERESED DAEICK YHHKDFRREEZRELBEICEVT. TORESPLERESEZOEERFETHS

CETHY. TRHSKhABWI L) EALET,

il
NP2 B O o & W OB HEHE (MUK~ DHH) B HSIE
T(1|ESBMDKBELSH| 498196 x 0045 /1000 = 22 kg ( 22.42 kg)
20(272| @A K & & & 498,196 x  0.015 /1000 =  75kg ( 7.473 ke)
28(405| 1Z 5 % & & ¥ | 498,196 x 0060 . 1000 =  30kg (29.89 kg)
0 (412X v HVRUEDLAY| 498,196 x /1000 = ke ( Ok




ERI0EE | KB | BRKRE 415412 o’
No. gg 2 B om B & — ;&;ﬁ;kmmmﬁf%§1<T;@mzk§$ﬁﬁﬁs§>ﬁ —
1| 1| EnokEttian| L 0.05 0.05 0. 04 0.06 0. 050
2| 48 E P N meL | 0.1 R 0.1 Kb 0.1 xRl 0.1 Rih 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
4 81| T o o | et 001 ki | 001 ki | 001 k& | 0.01 kiE [ 001 ki
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
o149 m m £ & = | me | 0002 ki | 0002 k& | 0002 k& | 0.002 k& | 0.002 %%
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1 157(1,2-v2 a2y | m | 0.004 K& 0.004 =K 0.004 ki 0.004 ki 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13| 159|ya-1,2-y" snnzsLy| me L | 0.04 ki | 0.04 k& | 0.04 k& | 004 k& | 004 ki
1|19 Db - D mg L | 0.002 X% 0.002 ki 0.002 ki 0.002 ki 0.002 k&
15| 186) 5 £ » F L > | m | 0.02 ki | 0.02 kF | 002 kFH | 002 X | 002 X
16| 27| kR U Z0E| mesL| 0.0002 K& 0.0002 =i 0.0002 =& 0.0002 k% 0.0002 =%
17| 22| € Lo RUZOEEY| me L | 0.01 k& | 0.01 k& | 0.01 k& | 001 x& | 001 Xxi&
18| 262| F+r3vomzFLY| mesL| 0.001 RiE 0.001 ki 0.001 ki 0.001 k& 0.001 k&
19 268 *;5;‘3";9‘?5@’) m L | 0.006 k& | 0.006 & | 0.006 k& | 0.006 & | 0.006 k&
20| 2712 #A Kk & % & | mesL| 0.01 K@ | 0.01 K| 0.01 K| 0.01 g | 0.01 R
21 279{ 1,1, 1-+ysnnz sy | msL| 0.001 XK 0.001 X% 0.001 k% 0.001 k% 0.001 k%
22| 280[ 1,1,2-+ysnnzsy| msL| 0.006 K 0.006 ki 0.006 ki 0.006 k& 0.006 ki
23| rysonzFry| me| 0001 ki | 0.001 ki@ | 0.001 ki | 0.001 k& | 0.001 ki
241 305 s & & B mgL| 0.01 =R 0.01 ki 0.01 ki 0.01 kil 0.01 ki
25| 32|MRRVEOEMEAY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
26| | 5 S EAFES e ] 05 ki [ 05 ki | 05 k@ | 05 kil [ 05 Xk
27| 400 R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
28 4050 £ 5 F £ & % | mL 0.29 0.34 0.38 0.34 0.338
29| 406 P c B mg L | 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki
30| 42| HURUVZDILEH| meL 0.02 0.03 0.01 K 0.01 K& 0.013

KBUE~RBILERGNBESERERESED DAEICK YHHKDFRREEZRELBEICEVT. TORESPLERESEZOEERFETHS

ceThY. TRESABNIE] EBET,
[ X&

NP2 B O o & W OB HEHE (MUK~ DHH) B HSIE

11| EBEmoXkBEELESH| 415412 x 0050 /1000 = 21 kg (120.77 ke)
201272| A K B & & 415,412 x /1000 = kg ( 0 kg)
281405 I 5 ¥ It & B 415,412 x 0.340 /1000 = 140 kg ( 141.2 kg)
0[412|RVAVERVEDILEEH| 415,412 x 0.013 /1000 = 5.4 kg ( 5.4keg




R0 FE

4

281, 251

3
m

I

BRKPOMERE (F4RBOKERERER)

Nolgs| # ® R B | B 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.05 0. 04 0.01 0.04 0.035
2| 48 E P N meL | 0.1 R 0.1 Kb 0.1 xRl 0.1 Rih 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1 157(1,2-v2 a2y | m | 0.004 K& 0.004 =K 0.004 ki 0.004 ki 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13| 159|ya-1,2-y" snnzsLy| me L | 0.04 ki | 0.04 k& | 0.04 k& | 004 k& | 004 ki
1|19 Db - D mg L | 0.002 X% 0.002 ki 0.002 ki 0.002 ki 0.002 k&
15| 186) 5 £ » F L > | m | 0.02 ki | 0.02 kF | 002 kFH | 002 X | 002 X
16| 27| kR U Z0E| mesL| 0.0002 K& 0.0002 =i 0.0002 =& 0.0002 k% 0.0002 =%
17| 22| € Lo RUZOEEY| me L | 0.01 k& | 0.01 k& | 0.01 k& | 001 x& | 001 Xxi&
18| 262| F+r3vomzFLY| mesL| 0.001 RiE 0.001 ki 0.001 ki 0.001 k& 0.001 k&
19 268 *;5;‘3";9‘?5@’) m L | 0.006 k& | 0.006 & | 0.006 k& | 0.006 & | 0.006 k&
20272 8 Kk & % #& | msL| 0.01 K@ | 0.01 K| 0.01 K| 0.01 g | 0.01 R
21 279{ 1,1, 1-+ysnnz sy | msL| 0.001 XK 0.001 X% 0.001 k% 0.001 k% 0.001 k%
22| 280[ 1,1,2-+ysnnzsy| msL| 0.006 K 0.006 ki 0.006 ki 0.006 k& 0.006 ki
23| rysonzFry| me| 0001 ki | 0.001 ki@ | 0.001 ki | 0.001 k& | 0.001 ki
241 305 s & & B mgL| 0.01 =R 0.01 ki 0.01 ki 0.01 kil 0.01 ki
25| 32|MRRVEOEMEAY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
26| | 5 S EAFES e ] 05 ki [ 05 ki | 05 k@ | 05 kil [ 05 Xk
27| 400 R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
28 4050 £ 5 F £ & % | mL 0.17 0.18 0.19 0.18 0.180
29| 406 P c B mg L | 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki
30| 42| HURUVZDILEH| meL 0. 01 0. 01 0.01 K 0.01 K& 0. 005

KBUE~RBILERGNBESERERESED DAEICK YHHKDFRREEZRELBEICEVT. TORESPLERESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

L
NP2 B O o & W OB HEHE (MUK~ DHH) B HSIE
11| BEmaoXKBEELESH| 281,257 x  0.035 /1000 = 98kg (19.844 ke)
201272| A K B & & 281,257 x /1000 = kg ( 0 kg)
281405 I 5 ¥ It & B 281,257 x 0.180 /1000 = 51 kg ( 50.63 kg)
0|412|RVAVRVEDILLEW| 281,257 x 0. 005 /1000 = 1.4 kg ( 1.406 kg)




R0 FE

]

469, 886

3
m

I

BRKPOMERE (F4RBOKERERER)

Nolgs| # ® R B | B 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0. 04 0.03 0.04 0.05 0. 040
2| 48 E P N meL | 0.1 Kb 0.1 Kb 0.1 xRl 0.1 Rih 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 ki 0.02 ki 0.02 ki 0.02 k&
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1 157(1,2-v2 a2y | m | 0.004 K& 0.004 =K 0.004 ki 0.004 ki 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13| 159y 21,2y ponzsLy| me L | 0.04 ki | 0.04 ki | 004 kFH | 0.04 kE | 0.04 ki
1|19 Db - D mg L | 0.002 X% 0.002 ki 0.002 ki 0.002 ki 0.002 k&
15| 186| 8 £ x F L > | m | 002 k& | 002 ki | 002 kF [ 002 kE | 0.02 ki
16| 27| kR U Z0E| mesL| 0.0002 K& 0.0002 =i 0.0002 ki 0.0002 =i 0.0002 ki
17| 22|t Lo RUZzOam| me L] 001 k& | 0.01 ki | 001 k& | 0.01 k& | 0.01 ki
18| 262| F+r3vomzFLY| mesL| 0.001 RiE 0.001 k& 0.001 k& 0.001 k& 0.001 k&
19 268 *;5;‘3";9‘?5@’) m L | 0.006 k& | 0.006 & | 0.006 k& | 0.006 & | 0.006 k&
20272 8 Kk & % #& | msL| 0.01 K@ | 0.01 K| 0.01 K| 0.01 K#m | 0.01 X
21 279{ 1,1, 1-+ysnnz sy | msL| 0.001 XK 0.001 X% 0.001 k% 0.001 k% 0.001 k%
22| 280[ 1,1,2-+ysnnzsy| msL| 0.006 K 0.006 ki 0.006 ki 0.006 k& 0.006 ki
23| rysonzFry| me| 0001 ki | 0.001 ki@ | 0.001 ki | 0.001 k& | 0.001 ki
241 305 s & & B mgL| 0.01 =R 0.01 ki 0.01 ki 0.01 kil 0.01 ki
25| sR(MERUZOMmEILEY meL | 0.01 K 0.01 ki 0.01 ki 0.01 K| 0.01 K&
26| | 5 S EAFES e ] 05 ki [ 05 ki | 05 k@ | 05 kil [ 05 Xk
27| 400f R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
28 4050 £ 5 F £ & % | mL 0.07 0. 06 0.08 0.07 0.070
29| 406 P c B mg L | 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki
30| 412|R v AU RUZDIEA| me L 0.03 0.04 0.03 0.03 0.033

KBUE~RBILERGNBESERERESED DAEICK YHHKDFRREEZRELBEICEVT. TORESPLERESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

[fE
NP2 B O o & W OB HEHE (MUK~ DHH) B HSIE
11| B KBFHEILESY| 469,886 x 0. 040 /1000 = 19 kg ( 18.8 kg)
20(272| @A K & & & 469,886 x /1000 = kg ( 0 kg)
281405 I 5 ¥ It & B 469,886 x 0.070 /1000 = 33 kg ( 32.89 kg)
0|412|RVAVRVEFDILEY| 469,886 x 0.033 /1000 = 16 kg ( 15.51 kg)




R0 FE

174, 726

3
m

I

BRKPOMERE (F4RBOKERERER)

Nolgs| # ® R B | B 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0. 04 0.03 0.03 0.04 0.035
2| 48 E P N meL | 0.1 R 0.1 Kb 0.1 xRl 0.1 Rih 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1 157(1,2-v2 a2y | m | 0.004 K& 0.004 =K 0.004 ki 0.004 ki 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13| 159|ya-1,2-y" snnzsLy| me L | 0.04 ki | 0.04 k& | 0.04 k& | 004 k& | 004 ki
1|19 Db - D mg L | 0.002 X% 0.002 ki 0.002 ki 0.002 ki 0.002 k&
15| 186) 5 £ » F L > | m | 0.02 ki | 0.02 kF | 002 kFH | 002 X | 002 X
16| 27| kR U Z0E| mesL| 0.0002 K& 0.0002 =i 0.0002 =& 0.0002 k% 0.0002 =%
17| 22| € Lo RUZOEEY| me L | 0.01 k& | 0.01 k& | 0.01 k& | 001 x& | 001 Xxi&
18| 262| F+r3vomzFLY| mesL| 0.001 RiE 0.001 ki 0.001 ki 0.001 k& 0.001 k&
19 268 *;5;‘3";9‘?5@’) m L | 0.006 k& | 0.006 & | 0.006 k& | 0.006 & | 0.006 k&
20272 8 Kk & % #& | msL| 0.01 K@ | 0.01 K| 0.01 K| 0.01 g | 0.01 R
21 279{ 1,1, 1-+ysnnz sy | msL| 0.001 XK 0.001 X% 0.001 k% 0.001 k% 0.001 k%
22| 280[ 1,1,2-+ysnnzsy| msL| 0.006 K 0.006 ki 0.006 ki 0.006 k& 0.006 ki
23| rysonzFry| me| 0001 ki | 0.001 ki@ | 0.001 ki | 0.001 k& | 0.001 ki
241 305 s & & B mgL| 0.01 =R 0.01 ki 0.01 ki 0.01 kil 0.01 ki
25| 32|MRRVEOEMEAY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
26| | 5 S EAFES e ] 05 ki [ 05 ki | 05 k@ | 05 kil [ 05 Xk
27| 400 R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
28 4050 £ 5 F £ & % | mL 0. 07 0.12 0.08 0.06 0.083
29| 406 P c B mg L | 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki 0.0005 ki
30| 42| HURUVZDILEH| meL 0.02 0.02 0.01 K 0. 02 0.015

KBUE~RBILERGNBESERERESED DAEICK YHHKDFRREEZRELBEICEVT. TORESPLERESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

N
NP2 B O o & W OB HEHE (MUK~ DHH) B HSIE
11 | HMDODKBEH.IEED 174,726  x 0.035 /1000 = 6.1 kg ( 6.115 kg)
20(272| @A K & & & 174,726  x /1000 = kg ( 0 kg)
281405 I 5 ¥ It & B 174,726  x 0.083 /1000 = 15 kg ( 14.5kg)
0|412|R VARV EDILLEH| 174726 x 0.015 /1000 = 2.6 kg ( 2.621 kg)




